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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set [a] on the Answer-Book.

5. (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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| Important Instructions |

This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEw SyLLaBus and the other based
on pre-revised study material marked as OLD SyYLLABUS.

New SyLLaBus is for those candidates who have registered for 2023-2024
(Stream-I and Block-I) admission and are appearing in April-2024
Examinations.

OLp SvirLaBus is for those candidates who had registered before
2023-2024 (Stream-I and Block—I) admission.

Candidates are to answer only one Question Paper from the given two
Question Papers.

Candidates are not allowed to mix questions from the given two
Question Papers.
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This Question Paper contains 46 questions.
T Y- % Fd 46 I

GEOGRAPHY

e
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Time : 3 Hours | [ Maximum Marks : 80
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[ quris : 80

Note : (i) This question paper consists of 46 questions in all.

(i) Al questions are compulsory.

(iii Marks are given against each question.

(iv) (a)

(b)

()

(d)

(e)

316/TUS/108A

Question Nos. 1 to 16 are Multiple choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions. An internal
choice has been provided in some of these questions.

Question Nos. 17 to 20 are Objective-type map-based questions
carrying 1 mark each. Questions for Visually Impaired Candidates
in lieu of Question Nos. 17-20 have been given. You have to attempt
only one of the given choices in such questions. Question Nos. 21
to 30 are Objective-type questions carry 2 marks each (with
2/4 sub-parts of I mark each). Attempt these questions as per the
instructions given for each of the questions 21-30.

Question Nos. 31 to 40 are Very short answer-type questions
carrying 2 marks each to be answered in the range of 30 to
50 words. Question Nos. 36, 37 and 40 are map-based questions.
Questions for Visually Impaired Candidates in lieu of Question
Nos. 36, 37 and 40 have been given.

Question Nos. 41 to 45 are Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

Question No. 46 is Long answer-type question carrying 5 marks to
be answered in the range of 80 to 120 words.
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fdw: () 3@ 99-9 ° gE F P G 46 R
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(iv) (a) T €& 1 ¥ 16—Fgfashedd YHR % T (MCQs), ST J&% [ 3% &l 2l
Y% Y H feu T 9n fashedt § @ 98 IUYh fashed w1 WA il 3R ford|
T U po T ° iafes famen fean mn R
(b) T T 17 § 20—IHE YHR % AHMGH W FEMNG T, S Tdh 1 3T
*1 7| giverfua wlenfeRi & foru w7 @@ 17 @ 20 % WWH W WA fqu M
21 3Rl W8 el 7 feu mu foemedi § @ shalel Uk W1 & ST AT 21 U HE&AT
21 ¥ 308 YR & T, I JAH 2 37 &1 8 (1 3h & 2/4 U9
% HY)| TH YA o U U MU e % SHER 3 Wl (21 ¥ 30) %
W 3
(c) T §& 31 ¥ 40—2 37 o 3IAd AT YHR & T, [k IW 30 &
50 vl § ¢ §| T HEA 36, 37 UF 40 THTTH W TG Y 7| gfenfid
ghienfai % fou g @@ 36, 37 W 40 % WH Wy few M F)
(d) I HEI 41 ¥ 45—3 30k % AT THR & Y, fFh W 50 § 80 weqi
ERCI
(€) I T 46—5 3 HT CrH-3ITNT TR 1 YH, EHh1 3T 80 ¥ 120 VI
LI

e N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft goAt % I IR § TS IH-Yfeawt § & ford

(2) 15 minutes time has been allotted to read this Question Paper. The Question
Paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the Question Paper only and will not write any answer on
the Answer-Book during this period.

3G YH-T I U & fw 15 fame &1 gy fear wen B wea-u @ faawer Qe #
2:15 &9 foham S@m| Qe 2:15 S & 2:30 &9 dh O had YH-UA Hl UG 3R
39 Al &% NH 9 IW-YREhl | &g W T8l forat|

\_

1. Which river flows through a rift valley? 1
(A) Chambal (B) Yamuna
(C) Godavari (D) Narmada
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freafefga 3 & sR- 7 fayiw o1& @ g o=@ @

(A) =& (B) =g
(©) e (D) T
Or / 31947
Which one is an example of periodic wind?
(A) Land and sea breezes (B) Westerlies
(C) Monsoon (D) Fohn
frfafed & & ®H-a1 g amies (3afies) 999 S TH IS 87
(A) TrefE 3R agg TR (B) U3 YeH
(C) w=Ed (D) wH
2. Which one of the following factors affects the salinity of the ocean? 1
(A) Denudation (B) Deposition
(C) Evaporation (D) Erosion
frefafea § & -9 6 Tgg H AU B TwWIfed HaT B2
(A) IS (B) A&
(C) TSRt (D) 3T9EH
Or / 37947

Which one of the following is an ocean zone divided on the basis of vertical
distribution of temperature?

(A) High latitude (B) Medium latitude
(C) Mediterranean (D) Thermocline

frafafga @ @ ®H-a1 T TEETRE @ 7, S AU % Heaiel faaw % U W
fefom 22

(A) I= 3T (B) TeIW 378
(C) TR (D) ATV (LHFATS )
3. Which one of the following is an example of local winds? 1
(A) Trade winds (B) Westerlies
(C) Fohn (D) Monsoon

316/TUS/108A 5 (TR er-o.



frfoifegd & @ -1 g ved 1 IeEw 27

(A) MR g (B) UgAl YA
(C) &M (D) AHET
4. ‘Major climate group A’ refers to which one of the following? 1
(A) Polar climate (B) Tropical humid climate
(C) Dry climate (D) Warm temperate climate
TgE Sear] g A’ fafafed § @ frme weffa war 27
(A) g Sy (B) Iwrhicad 3115 SoEy
(C) b TG (D) T I Serery
5. The Tropic of Cancer passes through which one of the following States? 1
(A) Assam (B) Bihar
(C) Nagaland (D) Rajasthan
Fehta fefafad ¥ @ foea U9 @ gt ol 87
(A) TEH (B) fe=r
(C) ATTelg (D) USEYIH
Or / 37947
Which one of the following rivers is included in the Ganga basin?
(A) Brahmaputra (B) Sutlej
(C) Yamuna (D) Godavari
frfafga o @ #9-W 7§ T IR § Wl 80
(A) ST (B) Facs
(C) (D) ert

6. Two statements Assertion (A) and Reason (R) are given below. Read both
the statements and choose the correct option. 1

Assertion (A) : The main source of surface water is precipitation.

Reason (R) : About 20% of the precipitation evaporates and becomes
atmospheric water.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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f g1 om AR (A) 3R HRU (R) TGu 7T 21 gF1 oMl i dley IR &E faehed
&1 = HifS|

AR (A) : FUAAT A B YIE@ WG a9 7

®RUT (R) : A9 20 Yfaerd ol <1 STSHishor g1 8 3R agueei™ 9ie &9 Sal 2|
(A) T (A) IR (R) & & 3R (R), (A) H && =wewn 2

(B) THI (A) 3 (R) && 2 dfeh (R), (A) I & = 4&f 2

(C) (A) ¥ % A (R) Tord B

(D) (A) T & wfed (R) @&l @

7. The Government of India observes the ‘National Forest Martyrs Day’ on

which of the following dates? 1
(A) 12th September (B) 11th September
(C) 10th September (D) 9th September
wRd whR feffad @ @ fho qrii@ #1 UgiE o wdie feaw’ wRh R7
A) 12 faams (B) 11 foamw
(C) 10 fHaw (D) 9 faamr
8. Arabari Reserve Forest Range is located in which of the following? 1
(A) Haldia (B) West Medinipur
(C) Kolkata (D) Darjeeling
sl IRfd a9 & ffafea & @ feen fm 27
(A) wfeem (B) ufeaw firgarg
(C) hIcTehT (D) QISIeRT
9. Choose the correct statement regarding the significance of Operation Flood. 1

(A) Operation Flood empowered the jute farmers.
(B) Operation Flood empowered the millet farmers.
(C) Operation Flood empowered the tea farmers.

(D) Operation Flood empowered the dairy farmers.
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‘HATRIA T’ U FEid FEl HYT BT I HINC|
(A) ‘ITRIA I | S[¢ fhAMI Sl TIRh SR
(B) ‘HTRIM wIg’ 4 &R o fhEMI &l TRk SR
(C) ‘IAMEE FI8’ 3 9™ % fhEMI Sl TIRh SR
(D) ‘HATRIA w18’ 4 I & Fhaml &l O3=h SR

10. Match Column—I with Column—II and choose the correct option : 1

Column—I Column—II
( Crops ) ( Leading Producer State )

(a) Wheat (i) West Bengal

(b) Rice (ii) Uttar Pradesh

(c) Tea (i) Karnataka

(d) Coffee (iv) Assam

Options :

(A) (a)-(@@) (b (@)  (d)f(v)
(B) (a)-(@@ (b))  (c}(w)  (d)-(iii)
(C) (a-@) (b (cf(w)  (d)-(i)
(D) (@)@ (b}  (c(E@)  (d)f(v)

HiAH—I 1 T Hiem—II ¥ Hifu 3R o) faweq =1 =99 HifSw .

HieH—I wiea—II
(FE) (3Tuuft ScdTEeh T=9)
(@) T (i) fEEm e
(b) =mEA (ij) I I
(c) = (iii) HATH
(d) THI (iv) 3IEH
%!EW .

(A) (a)-(@@) (b} (@)  (df(v)
(B) (a)-(@ (b}  (c)(w)  (d)-(ii)
(€) (@@ (b  (cf(w)  (d)-(ii)
(D) (a)-@) (b))  (c(@)  (d)f(v)
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Or / HY4l

Match Column—I with Column—II and choose the correct option :

Column—I Column—II
( Minerals ) ( Mines )
(a) Bauxite (i) Neyveli
(b) Petroleum (ii) Katni
(c) Coal (ii) Ratnagiri
(d) Iron (iv) Digboi
Options :

(A) (a1 (b@)  (cf(@)  (d)-(iv)
(B) (a)(@)  (b}(v) (c)(9)  (d)-(ii)
(C) (a)-(w) (b)) (@) (d)-()

(D) (a)-(@)  (b}(v) (|1  (d)}(T)

HiAd—I ®1 ™ widHa—II 8 Hifu 3R g feheq &1 == HIfe -

HicTH—I wicH—II

(@) (T™)
(a) SieETgE (i) e
(b) UifeE™ (i) A
(c) e (iii) TR
(d) el (iv) Tewg
foeren

(A) (a)r() (b}-(W)  (c)-(ii)  (d)-(iv)
(B) (af-(@) (b)) (c)-()  (d)-(iii)
(©) (af-(wv)  (b}(E) (c)-(@) (d)-(i)
(D) (af-(i)  (b}(w) (o))  (d)-(ii)

(TR er-o.
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11. In which of the following Census years, the percentage of urban population

was highest in India? 1
(A) 2011 (B) 2001
(C) 1991 (D) 1981
frfafga # @ fpg S o § vRa & TRE SHEE 1 Jiaea 999 e o1
(A) 2011 (B) 2001
(C) 1991 (D) 1981
Or / 37941
Which one of the following States has the highest sex ratio in the country?
(A) Maharashtra (B) West Bengal
(C) Kerala (D) Gujarat
frefafaa & @ f5a o~9 & < ° weg sifoe formuma 27
(A) wERTY (B) ufRem st
(©) * (D) TSR

12. Who among the following has started Sarva Shiksha Abhiyan in the
country? 1

(A) State Government of Uttar Pradesh
(B) State Government of Haryana

(C) Government of India

(D) Government of Delhi

frafafea o @ fpaa <o o @d e sfem 3& o 27
(A) I I T TWHR

(B) &N TST GGhR

(C) YRd TEHR

(D) feght wwhR

13. Which one of the following States has the highest rank in the Human

Development Index? 1
(A) Goa (B) Gujarat
(C) Kerala (D) Tamil Nadu

316/TUS/108A 10 AT



frafafea & @ fpa Us9 &1 oHa foba gEsis U gl W™WH 87

(A) TMET (B) TSRId
(C) ¥ (D) g
Or / 379d1
Which one of the following is a pillar of human development?
(A) Equity (B) Justice
(C) Democracy (D) Religion
Frafafega & @ - ume fowm &1 T w@a 27
(A) &HAT (B) =
(C) <rha= (D) e

14. Which one of the following comes under the Millennium Development
Goals? 1

(A) Achieve universal higher education (B) Eradicate extreme poverty
(C) Promote democracy (D) Promote equality

Frafafaa @ @+ Tgars faem @&t (Millennium Development Goals) % 3
3T 77
(A) \EVE 3= frem @ aw s (B) rcafes T @ fier
(C) T I Feral <l (D) HHFCT BT Sl G
Or / Y4l

Agenda-21 regarding the future environment was prepared in which of the
following conferences?

(A) Special Conference of General Assembly (New York)

(B) United Nations Millennium Summit

(C) Earth Summit (Rio)

(D) Rio+ 10 (WSSD)

frefeea o @ fopm Tem § vfosy % wfatwr & g9 § Toer-21° dIR R T an?
(A) HEET H1 foRiy THEH (=gATh)

(B) WY® TP HgaTfeq et awied

(C) gt Rrex awem (fa)

(D) f&+ 10 (wad fasm W RreR awer)
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15. The total sustainable development goals are
(A) 13 (B) 11
(C) 15 (D) 17 1
Fol Had foehE wed @
(A) 13 (B) 11
(C) 15 (D) 17
Or / 37941

Which of the following UTs has achieved the highest score in the
Sustainable Development Goals index?

(A) Delhi (B) Lakshadweep
(C) Puducherry (D) Chandigarh

ffaied fpe Fg-wia Y 4 dqd fowE A& gEdie H I=aH @hR FEd
fopm 27

(a) et (B) e
(©) dg=r (D) =g
16. Which one of the following is cold wind? 1
(A) Bora (B) Fohn
(C) Chinook (D) Sirocco
frafafea & @ ®H-a1 31 v 77
(A) s/ (B) ®H
() o= (D) TR
Or / 37Yd7
Buran cold wind is related to which one of the following regions?
(A) Central Asia and Russia (B) Rocky Mountain
(C) Alps Mountain (D) Plains of North India
TH 3¢ ved frferfea & @ fpm & @ wefya &2
(A) HeT URET 3R ®E (B) ekl uda
(C) 3Ted Yda (D) I WRd 1 Jer &

316/TUS/108A 12 AT



Note : Study the given map carefully and answer the Map-based Question
Nos. 17, 18, 19 and 20.

fem . fou o wmfam &1 eFgds SteRe Hife 3R AR W nyTia T S@ 17, 18,
19 31T 20 % I dafvw

| | | |
150° 120° 90° 60° 30° 0° 30° 60° 90° 120° 150° 180°

SCALE
Kms. 0 2000 4000 6000 Kms.

— 60°

-e0%? 150° 120° o0 o0° 3 o 3 o0 o 120° 160° 180°

17. Identify the mountain marked as ‘A’ on the map and choose the correct

option. 1
(A) Appalachian (B) Alps
(C) Rocky (D) Andes

316/TUS/108A 13 AR TR0 1 e.7.0.



AHf W 3ifehd ‘A’ 9dd I TgEH i 3R TE fasen w1 w=a Shifsm)
(A) IATIEH (B) 3o
(C) Teht (D) T

18. Identify the plate marked ‘B’ on the map and choose the correct option. 1

(A) Caribbean plate (B) Scotia plate
(C) Nazca plate (D) Philippine plate
Al W 3AfRd B’ wie I qgaM HifT 3R T fasken &1 =m Hif |
() it < (B) EHIRMN Wi
(C) THI e (D) Thefifim wie
19. Identify the current marked ‘C’ on the map and choose the correct option. 1
(A) California (B) Equatorial
(C) Benguela (D) Peru
Al W SAfRd ‘C’ TR 9 Fi TgEE hifT IR T fasen &1 A Hifm)
(A)  HiTafi (B) fagadia
(C) TEer (D) &

20. Identify the grassland marked ‘D’ on the map and choose the correct

option. 1
(A) Prairies (B) Pampas

(C) Canterbury (D) Downs

AHE T 3Afhd D’ =EYH H TEEH HINY AR FE foshed 1 @I Hig

() S (B) U

(C) el (D) =™
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Note : These questions are for Visually Impaired Candidates only in lieu of
Question Nos. 17-20.

few . FHRgd T Haa gieanem udenfof % U w9 @@ 17 9 20 % W

W 2l
17. Which one of the following mountains is located on the eastern part of
North America? 1
(A) Appalachian (B) Alps
(C) Rocky (D) Andes
frrferfian el § @ BA-T IR AR % qE A W fem 27
(A) ToREE (B) e
(C) Teh (D) TN
18. Which one of the following plates is located in the western part of South
America? 1
(A) Caribbean plate (B) Scotia plate
(C) Nazca plate (D) Philippine plate
et wiei § 9 SF-H glqor SHfeR % dfead] Wi safed 879
(A) Hifeas = (B) THIET &
(C) TTFR =i (D) Thefifa wie

19. Which one of the following currents is found in the western part of the
North American continent?

(A) California (B) Equatorial
(C) Benguela (D) Peru 1
frafafad & @S- JAUR I W TEET * g 9E § 9 S 87
(A) hfeTRIfa (B) forgerdta
(C) =ueT (D) ¥&
20. Which one of the following grasslands is located in New Zealand? 1
(A) Prairies (B) Pampas
(C) Canterbury (D) Downs
frfefiad & & FH- T e 3 fRr 2
(A) TS (B) wd™
(C) dhew (D) sR=H

316/TUS/108A 15 AR TR0 1 e.7.0.



21. Answer any two of the following questions in one or two words each : 1x2=2
() Name the volcanic mountain of Japan.
(b) The Malwa plateau is an example of which type of plateau?
(c) The Mexican plateau is an example of which type of plateau?
(d) The Colorado plateau is an example of which type of plateau?

fFrafafega @ o 5= @ w9t & S & I g wsg A G
(%) AWM & ST gdd w1 AW fafau)

(@) 9T Y8R fhE YR & YR h1 3ICEWT &7

(1) ufegerd 9BR fhd YHR & USR T ISEN B 7

(F) HIAE! SR fh8 YR & TSR 1 I 27

22. Read the given paragraph carefully and answer any two of the following
questions in one or two words each : 1x2=2

Human Sustainability

Human development is a core of SDGs and most of the goals are directly
and indirectly related to this. To maintain human sustainability need to
improve human capital. Therefore to end poverty and remove hunger need
to invest in poverty eradication. Apart from this, investment is also
required in the health and education sector, access to services, nutrition,
and knowledge and skill enhancement for improvement of health and
completing economic wellbeing for all. For maintaining good health and
wellbeing have to end preventable death of newborns and children of age
below 5 years in all countries, ends the epidemics of Aids, tuberculosis,
malaria, water-borne diseases and other communicable diseases, etc.
Through development of skills and capacity building, we can promote the
wellbeing of communities and society.

(a) Identify the core of sustainable development goals (SDGs).

(b) Mention the need to maintain human sustainability.

(c) What is required to end poverty and remove hunger?

(d) How can we promote the wellbeing of communities and society?

feu MU IrgeRe @I wmgds ufer it Frafafed & @ 6l @ 9= F T W @ wd
ﬁﬁ'{aﬁﬁ
S Tdd DU

g o adq fosm @l @1 qa 7 SR AfUS d5 Yo A1 WY ' O sEd
ey 2| HME §ad 9IeiEdr Sl S W@ o6 T AFE S § gER i STEvashdl @
Fafery e T F 3R yEEl @ B F o e Sen # s e A e
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2| 3T 3retman, @Weed § gur 3 avft % forw il weamr w1 qu e % fore wmee
3R fren &=, qarsti de 99, 9w SR [W 9 wive gig § off Few fit smawea
Bl TS0 WA 3TN Hodvl HI SFT WA % fou gd wft o # Jeena famgen ek
594 ¥ HH W b Sl hl G HI GHAH HT &MT; TgH, quiceh, Holldl, SAA-A-d
STt R 3= =T T 3l Sl M Sl THTH T BN hived 3R &HdT & faem
% TEIH ¥ g9 YR 3R TS HI 9ATS I FET ¢ Hehd &

(%) Taqa Ao fa™ @&l (SDGs) & I @I I TgaH hifu)

(@) AT qYfiEdr i §HC WA 6l 3Ma9aehdl &l 3g@ hifau|

(1) e T IR qEE g FH 6 T T SEREE 87

(9) &H HUGEl 3N THIS h1 Well§ i U @l ¢ Hehd @7

23. Match any two correct combinations from Column—A with Column—B : 1x2=2

Column—A Column—B
(Crops) (Leading producer)
(a) Sugarcane (i) West Bengal
(b) Floriculture (i) Jharkhand
(c) Cotton (i) Bihar
(d) Paddy (iv) Karnataka

(v) Uttar Pradesh
(vi) Kerala
(vit) Gujarat

HAH—A 3 HidH—B A frdl @ ot el &1 e hifve -

HIAT—A HiTH—B
(FEH) (aTuruft SeateeR)
(@) T (i) ufe=H A
(b) Heil T Gt (i) IES
(c) wuE (iii) ToER
(d) =Tad (iv) FAEH
(v) ST H
(vi) HA
(vii) TSI
316/TUS/108A 17 AR TR0 1 e.7.0.



24. Answer any two of the following questions in one or two words each : 1x2=2
() Name any two main sub-branches of regional geography.

(b) The study and practice of making maps and diagrams is known
as what?

(c) Name any two branches of physical geography.
(d) Name any two branches of human geography.

frefafga & @ f68 @ woAl & S T M o weg § @R

(%) & e 61 Tl @ ge IwmmEisl & AW Ry

(@) gHT T ARG §HH o AHIT Td A bl FI1 hal STl 87
() ofifqes e i fohedl @ smanstt % AW fafau)

(") AHa e i fRl & st % AW faRav)

25. Match any two correct combinations from Column—A with Column—B : 1x2=2

Column—A Column—B
(a) Thermal power plant (i) Katni
(b) Hydro power plant (ii) Khetri
(c) Thorium (iii) Bellary
(d) Nuclear power plant (iv) Hirakund

(v) Visakhapatnam
(vi) Kaiga

(vii) Singrauli

HAT—A 3 HidH—B ¥ fordl @ @ Sl 1 faem Hifse -

HIAH—A HicH—B
(@) a9 foga @9= (i) A
(b) et fogd &= (ii) G
(c) efam (i) g
(d) W] W (iv) EHE
(v) TaemETeTH
(vi) HT
(vii) Tt

316/TUS/108A 18 AT



26. Answer any two of the following by filling the blanks with appropriate
words : 1x2=2
(a) is the continental margin which starts from the shoreline and
extended up to the continental edge.
(b) The flat-topped mountains (seamounts) are known as

(c) The surface temperature of the oceans declines from the equator
towards

(d) The Northern Hemisphere has more area than that of the
Southern Hemisphere.

frefafaa @ @ f5dl @ & W 6 W 4 3ge wsg W A

() _ wEEddE auae @ S qit@l ¥ Y g @ 3R merediE R ae %en R)
(@) THae MY ot vedl (g dell) & el S 3l

() HEENRI 1 Hag 1 qUHH YHERET ¥ sl I %A & S gl

(a) <o Memg A gor # SO Meg § & 31 Rl

27. Read the given paragraph carefully and answer the following questions
in one or two words : 1x2=2
Difference Between Weather and Climate

Weather and climate are sometimes used as synonyms but they are not
the same. The state of general atmospheric conditions with respect to
temperature and pressure is called weather. An important characteristic
of weather is it changes everyday and can be erratic. That is why we get
daily weather updates and alerts. The meteorological agencies like Indian
Meteorological Department (IMD) provide weather forecasts. On the other
hand, climate refers to the long-term averaged weather conditions of a
particular area or region.

(a) Who provides the weather forecast for India?
(b) Mention the main factor that differentiates climate from weather.

fou M Igese @ wEEs ufer it freffed s % SW e A g v # i
HEH 3R Tearg ¥ 3

HEH 3R Joary ol Hfi-fi wiFer=h & 9 § 5 o S @ dfehd o 9uE @

&1 aUEE 3R cud % Tey § g aHsdE gunatt i fRufa w5 diug wE S 2

TEH H TH AUl RIYAT A8 @ T 98 & fed deear 8 iR itafia g Wk 31 ad

For g fp g <fes diem i s g 9 Hashar et 21 9 g favm

(350 WHo Fo) Jeft HEIGIhel TSl HieH! @AM YeH it §1 golt 3R ey

fopeft fomiw & o1 wew i referifores it dom Y gene @l Heffa wtar 7

() WRd & foIw dgq 1 qEiqe +H IUcisd i 27

(@) 38 G HH H1 3@ T SN STy bl HEH T 37 Hl 2l
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28.

29.

30.

31.

32.

33.

34.

Answer the following questions in one or two words each : 1x2=2
(¢) Who builts the coral reefs?

(b) The low islands found in the tropical oceans consisting coral reefs
surrounding a central depression is known as what?

Fraforfaa et &1 S e W g wsg A @

(%) Hm =gEl 1 fmir w4 war 27

(@) IWThieaefiT TEEMR | 9T IH 91t el el 3T9de & AEIE Yara (R
¥ I = g9l I w1 wE AT Y

Answer of the following questions in one or two words each : 1x2=2

() Name the two major sources of energy which empower the various
exogenic processes.

(b) Mention an example of Intermontane plateau.

frfaiRea s % S T W @ v ° G

(%) oAt & q Y@ Hidl & 9 Fage 1 fafiw st afpaet # e s99 &)
(W) UG TSR H1 TH I Ao

Answer the following questions in one or two words each : 1x2=2

() Name any two continents where the low pressures exist in the month
of January.

(b) What is the other name for inter tropical convergence zone?
ffafied T &% IW TF a1 g Wl § GNT

(%) ol & werddl & 9w fafen sl Sl @ # = agee 2@ 2
(@) AR-Iehfeada AR &5 F1 3= TW R 27

Explain two main features of the Western Ghats in India. 2

IRd § ufvedt g 6 @ ygE fowwaret ft =men S|

Explain any two negative impacts of green revolution on Indian agriculture. 2

YR HY W BRA SIfd & fohgl q ThRIcH® TWTEl I T8 IR

“Sun is the most vital, abundant and direct source of energy.” Explain the
statement in the context of India. 2

o, Sl B HEH TRy, Y 3R Yee € B17 R % wed § 39 % hl sAmen
i)

Explain the role of NITI (National Institute for Transforming India) Aayog
to achieve the objectives of sustainable development goals. 2

Tad T @& o Il Bl H H  faw Hifd s F e w1 wE i
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35. How are humans affecting the environment and its quality? Explain
any two ways. 2

TS, TATER0T 3T IHeh! T ol fehd T WTfard ot @ &7 Tohedl &t adienl i =amen
EAIEI

36. On the given Political Map of India (shown in Page No. 49), mark and
label the following : 2

9 h U TTT (I8 91 49 T f@T 7T0) TsHIfdeh {@mHfes § FHefaRad i sifehd hifsg
ﬁﬁw%ﬁw

(a) Eastern State having 18 wildlife sanctuaries

18 I=ISfa STHARTAT aTelt qaf U=

(b) Western State having 25 wildlife sanctuaries

25 TSHT AHIANCAT AT Ui T

Note : The following questions are for Visually Impaired Candidates only in
lieu of Question No. 36.

(a) Name the Eastern State having 18 wildlife sanctuaries.
(b) Name the Western State having 25 wildlife sanctuaries.

e . faffad w1 e gfoenfam wlenfdi=t & fow w7 @@ 36 & wWH W £
(%) 18 IS IRl arel gt U=y b1 9 fafgu)
(@) 25 I=id IR a1 Iivadt Tsg o1 A faka)

37. On the given Outline Map of India (shown in Page No. 51), mark and
label the following : 2

wRd % feu e (98 wen 51 fowmg ) wmete # fefafed #osifea Sifve i
3T AW fafe .
(a) The southern-most place on the mainland of India
RA 6l gl W e T
(b) The highest peak of Eastern Ghats
o T # w9

Note : The following questions are for Visually Impaired Candidates in lieu of
Question No. 37.
(a) Name the southern-most place on the mainland of India.
(b) Name the highest peak of Eastern Ghats.
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fdw . Feafofed gw e giemftm wenfelai & foru g g@n 37 & @@ w €|
(%) WRd 1 geril W gfvd we w1 W fafeg)
(@) gt = i gey S AA w1 am fatau)

38. Describe the different meanings of development for different people.

faftm &l 6 fore fomea & fafim aref =1 avfa <hifsu)

39. Describe any two characteristics of the dry deciduous forests in India.
A H 3%k TUiaTdt o i fedl @t femaneti w1 aui i)

40. Answer the following questions on the basis of the given map :

°0°E
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INDIA
wg g PHYSICAL
‘,' [ O Y : v - N
.\,\g«v; 15 [ L A
ond & S I ; ‘S
14 / \ ~ e/
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(@)

Name the State where the Gir Hills are located.
(b) Name the Island located in the Bay of Bengal.
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few o omfam % smur W fEfafed e % 3w A
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(%) 39 T &1 7MW fafey S&f fir verfeat @ )

(@) ot Sl @Et ° | gu w1 am fafaw)
Note

The following questions are for Visually Impaired Candidates in lieu of
Question No. 40.

() Name the State where the Gir Hills are located.

(b) Name the Island located in the Bay of Bengal.
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fw . FefaRad s waa goatia wdenfat & o w7 @ 40 % W W F)

41.
42,

43.

44,

45.

46.

316/TUS/108A 24 AT

(%) 39 T &1 99 fafau =i fin werfeat f&a 21
(@) = 6l @l # fa €9 1 9w fafan)

Describe three main features of the ‘Block Mountains’.

‘Al gadl A @ foRivarstt w1 avi hifu)

Explain any three features of temperate grassland biome.

guiiaen a@-feq 9=H i fhdl R foeiwarst i smen hifvm)

Analyze any three factors affecting the atmospheric pressure.

IYHSHAT G I THTAA A AT gl A PRkl I ToRerSo HIfT|
Or / 31941

Analyze any three features of equatorial low-pressure belt.

eRdE fege 98 Fi Tl dR faomarsti &1 favemor $ifsu)

Explain any three significances of the monsoon in the Indian economy.

WRAT Pefeewen § AFed % Rl di "l i e i)

“There is a great variation in the availability of water resources in India.”
Explain the statement with examples.

“URd U A GEEET hl I9eHdr § bl i 217 3ergwn dfgd 39 e il saren
sHifom|
Or / FYdr

“Water is an important constituent of the ecosystem.” Explain the
statement with examples.

‘S aTRfeAfehl @3 1 T AUl Tk gl Qe dfgd 36 %A Hi A Hifvu)

Define the term ‘sex ratio’. Explain any four reasons for the declining sex
ratio in India.

FRTIATA’ W68 1 TR <hIfe| witd & fermrara # finrae & foredi =R il <t samen
sHifa|
Or / FYdar

Explain any five characteristics of Human Development Report
(2021-2022) of India.

IR @& AFe faem dfdded (2021-2022) 6 fh<l e oot & smen hifkg)
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This Question Paper contains 46 questions.
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e
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Time : 3 Hours | [ Maximum Marks : 80

g 3 Hue |

[ quriss : 80

Note : (i) This question paper consists of 46 questions in all.

(i) Al questions are compulsory.

(iii) Marks are given against each question.

(iv) For Optional Module, attempt all questions either from Option I or
Option II.

V) ()

(b)

()

(d)

(e)

316/TUS/108A

Question Nos. 1 to 16 are Multiple choice-type questions (MCQs)
carrying I mark each. Select and write the most appropriate option
out of the four options given in each of these questions. An internal
choice has been provided in some of these questions.

Question Nos. 17 to 20 are Objective-type map-based questions
carrying 1 mark each. Questions for Visually Impaired Candidates
in lieu of Question Nos. 17-20 have been given. You have to attempt
only one of the given choices in such questions. Question Nos. 21
to 30 are Objective-type questions carrying 2 marks each (with
2/4 sub-parts of I mark each). Attempt these questions as per the
instructions given for each of the questions 21-30.

Question Nos. 31 to 40 are Very short answer-type questions
carrying 2 marks each to be answered in the range of 30 to 50
words. Question Nos. 35 and 36 are map-based questions.
Questions for Visually Impaired Candidates in lieu of Question
Nos. 35 and 36 have been given.

Question Nos. 41 to 45 are Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

Question No. 46 is Long answer-type question carrying 5 marks to
be answered in the range of 80 to 120 words.
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@)
(i)
(ii)
(iv)

v)

39 gW-0 H Gl peA T 46 Bl
aft g AR 2
Y& Y % GFH 39k yiiE 3w feu o )

Shfcush Higed o foTu, foehed—1 1em@n foshea—II & @t sl o I <l

()

(b)

(©)

(d)

(e)

T @ 1 ¥ 16—Sgashedd TR % T (MCQs), S Y& 1 37 &I 2l
I Y H fu T IR fosedl § @ deW 39w foehew 1 T9A W 3R o)
T ¥ $o g A Ifiaies fasen feam mn Rl

T &I 17 ¥ 20—aKHE YHR b AHGT T LG T4 S TS 1 3h
#1 2| givanfa whenfei % fow ye7 @ 17 9 20 % WH W W\ for M
21 3Rl WO gl § feu mu fashedl § @ Shaet Uk BT E I AT B U EE&
21 ¥ 30—IEHE THR o T, A YAH 2 37 H1 g (1 3% & 2/4 99T
% T@Y)| YIh YA & fou feu ww fcei % IgER 3 oy (21 ¥ 30) &
I 3

Y & 31 ¥ 40—2 3 o A THWE THR T, Eh W 30 |
50 Wl ¥ ¢4 B Y "N 35 Ud 36 HERE W INUTG Y &1 v
ghenfiat % foft g @@ 35 w6 836 % wWH W A feu mw

T TEI 41 A 45—3 31 % AR TR b I, 56 W 50 § 80 W=
7 g R

Y & 46—5 37 1 AU-IT0T TR H1 Y, T8GR W 80 § 120 wsai
¥ T Rl

\.

(2)

((1) Answers of all questions are to be given in the Answer-Book given to you.
aft gel % IR TR § TE IH-Yfrwr § & ford

15 minutes time has been allotted to read this Question Paper. The Question
Paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the Question Paper only and will not write any answer on
the Answer-Book during this period.

T YH-UF I Ued & fau 15 e =1 999 feanr mn 21 we9-93 1 faaqwor duee §
2:15 o1 fopam S@m| SUeX 2:15 S5 ¥ 2:30 99 d% BE had IH-IF I el 3HN
3G A % SN o ITW-YEAH! T DI 3T T8l fora|

N

1. Which country’s scholar first used the word ‘geography’? 1

316/TUS/108A

(A) France

(B) Greece

(C) England (D) Germany
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‘Geography’ (Tﬁ?[) W& hT TAN H9dH UEA fohd <9 & fagm I feeam eme

(A) »HE (B) o™
(C) wis (D) e
2. Which of the following is not a part of the ocean basin? 1
(A) Continental shelf (B) Abyssal plains
(C) Ocean deep (D) Continental drift
fafifad d @ #H-91 TeMIR % 9 w1 9 TE 8 e
(A) HerEdE fmm a2 B) foae #em
(C) werEmE TR (D) HerE feoreema
Or / 3Yda1
Which of the following has the least salinity?
(A) Dead Sea (B) Caspian Sea
(C) Baltic Sea (D) Red Sea
frafciRaa d @ fred Saomar 61 A weW w7 Y
(A) Wa ETR (B) hfoRH AR
(C) dfecss TR (D) & TR
3. Which one of the following factors does not affect insolation? 1

(A) Angle of incidence of sun rays

(B) Transparency of atmosphere

(C) Length of the day

(D) Earth’s rotation speed

I ® g w aren FEfafed § 8 SH-9 w6 dRe @ Y
(A) I H FRTT W1 SIAH BT

(B) dIHEH I YNGR

(C) fea & srafy

(D) et <t ufeRd Tfd

(TR er-o.

316/TUS/108A 2

~



Or / FYdar

Which of the following is not a process of direct heating of the

atmosphere?
(A) Conduction (B) Radiation
(C) Convection (D) Precipitation
ffafed § & -9 IgAvSA ®I Y T HE hI ABRAT TE 27
(A) =M (B) ferfertor
(C) wa (D) o

4. Which of the following is not a factor affecting climate? 1
(A) Latitudinal range (B) Longitudinal range
(C) Height above the sea level (D) Distance from sea
frafafed o @ ®H-81 Jo@r # gwIfad S 9Tel BRe% TG 87
(A) et fomar (B) <ol faeam
(C) &3 § S (D) #35 & g

5. Which of the following is a second-order biome? 1
(A) Tropical biome (B) Temperate biome
(C) Tundra (D) Desert biome
ffafied & & ®H-91 T fgda % &1 Siam 872
(A) Iwrhfese Sfiam (B) Ifarsesfeaefa Sam
(C) 3ugr (D) weedel Sfam

Or / 379491

Which of the following is not a subtropical grassland biome?
(A) Prairie (B) Savanna
(C) Steppe (D) Pampas
fafafga & @ SF-u suwrslesda gy Sfam a8 87
(A) (B) Fa
(C) =i (D) GaT
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6. Choose the correct option related to the longitudinal expanse of the
mainland of India. 1

(A) 68°7" to 97° 25" W longitude

(B) 68° 7" E longitude to 97° 25" W longitude

(C) 68°7" to 97° 25" E longitude

(D) 68°7" W longitude to 97° 25" E longitude

G ! eI o = foer 8 gafud 98t fases 1 =@ Hiu)
(A) 68°7 ¥ 97°25 ufyeHl M

(B) 68°7 Udf guial & 97° 25 dUfeaHt TmeR

(C) 68°7 & 97°25 Ul WM

(D) 68° 7' ufvadt ¢oiat & 97° 25 Y <R

7. Which of the following mountain peaks is the highest? 1
(A) Nanga Parbat (B) Namcha Barwa
(C) Kanchenjunga (D) Patkai Bum
frafafea & & fopg wda R &1 S= waifas 27
(A) =T uEd (B) =T SXET
(C) s (D) s =
Or / FHYar

Which of the following is not located in the Eastern Hills?

(A) Garo (B) Khasi
(C) Jaintia (D) K2
frafafad & @ sH-H (@it wwifea o o T8 87

(A) TR (B) @
(C) S (D) K2

316/TUS/108A 29 (TR er-o.



8. Why is the climate of Mumbai equable than that of Delhi? 1

(A) Height above the sea level (B) Distance from sea
(C) EI-Nino (D) Precipitation
qog bl werary fegt bl qer H wW i Re
(A) THg d1 ¥ S (B) ¥4z & oft
(©) Tww-H (D) =T
9. Which is not a characteristic of summer season? 1

(A) Generally hot and dry weather throughout India
(B) Rain on Coromandel Coast due to eastern monsoon
(C) Change of wind direction

(D) Heat wave prevails in the northern plains

g Hem f - fowivar 7@ 27

(A) TG ® IR H T 3R Ik Hem
(B) U HMEH ® HRWSH ¢ W Al

(C) weHt & feem § dftadH

(D) ST AeHl § T gl T @

10. Which of the following countries has lower land-man ratio than India? 1
(A) United States of America (B) Netherlands
(C) United Kingdom (D) China
f=fafes @ @ f5a 3o &1 yft-ama U@ wRa i o # w5 77
(A) I T IR (B) Hrewcied
(C) e TehTem (D) =™
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Or / HY4l

Which is not the reason for degradation of agricultural land in India?

(A) Erosion (B) Salinization
(C) Mining (D) Landform
IRd § HY 9 % g H HRT HE-T1 TEH B?
(A) WA (B) wremieRtar
(©) @ (D) -3mpfa
11. Bhakra-Nangal Project is on which of the following rivers? 1
(A) Satlyj (B) Damodar
(C) Mahanadi (D) Tungabhadra
rEeT-Are ufeeH frafafaa & @ g 9@ m 27
(A) HIgS (B) oI
(C) wemd (D) g
Or / 319d7
Nagarjuna Sagar Project is located on which of the following rivers?
(A) Mahanadi (B) Satlyj
(C) Narmada (D) Krishna
S aR ufEeH frefafed § @ fem 9d W fRm 20
(A) wEFMS (B) HAq
(C) e (D) F=M

12. Read the following features of plantation agriculture carefully and choose
the correct option : 1

I. Well-organised and managed cultivation
II. A single crop is planted on a large scale
[II. Wheat and rice are its main crops

IV. It requires large-scale investment

Options :
(A) I, II and III are correct (B) II, III and IV are correct
(C) I, II and IV are correct (D) I, IIl and IV are correct
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Tuor Hfy A Freferfed fosmarst 1 eamgdes dfgu 3t @&t faseq &1 =@ Hifvw .
I Y[ wd et giaast 8 3%

II. Tt s wOa & 92 THE W AT AR

M. 7 3R a&a 396 1@ w8 @

IV. 35 foq o2 3am W frew <l srrawashdr gt 8

e -
(A) I, I 3R III ot & (B) I, III 3R IV @& &
(C) I, II 3t IV &t & (D) I, III 3 IV @& &

13. The leading sugarcane producing State is
(A) Punjab (B) Uttar Pradesh
(C) Bihar (D) Madhya Pradesh 1
TET IATEH SO UST B
(A) U (B) I T
(©) faem (D) wed wem
Or / 379d1
The leading rice producing State is
(A) Haryana (B) Jharkhand
(C) West Bengal (D) Bihar
Iad IcATeHh IV TST B

(A) =R (B) ww@s
(C) duR=m s (D) fem

14. India falls in which of the following categories of Human Development
Index? 1
(A) Very high (B) High
(C) Medium (D) Low
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I, Mg fosh e & Fefafed & & fha @t & amar 27
() =fq 3= (B) 3=
(C) wem (D) fm=

Or / 379a1

Which of the following is not a basic dimension of the Human
Development Index?

(A) Long and healthy life

(B) To acquire knowledge

(C) Living a polite and decent life

(D) Human international relations

frafafed & @ ®F-81 AFa faw™ gIece 1 IR W & 27
(A) & @ =Ry Sflew (B) M UTH AT

(C) T 3R wmef= Sfem S (D) AHE & FAUTE Tae

Attempt any one part as per your optional module

U Aehicush AIZIH o AR fohelt Tsh WIT &1 S &

OPTION-I
forrea—1
( Local Area Planning )
(TR 8 T )
15. Data available in records or already collected by others is called

(A) primary (B) secondary
(C) tertiary (D) business related 1
stfierE ® ifha sffehsl a1 T8t § & QU % GRI THBA 3iihel I gl Sl @
(A) e (B) fedftore
(C) g (D) =aE™ Had
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16. Which is not a suitable suggestion for the improvement of slum? 1
(A) Provision of basic social amenities
(B) Arrangement for economic businesses
(C) Environmental quality control

(D) Landscape control

afe st % gur % foIu wH-T1 SugE g @ R e
(A) TV IR E-T19HT hl SHae

(B) e wei & oy s

(C) wateref Turaar e

(D) -3pfd Frew
OPTION-II
fomrea—1I1
( Geography of Tourism in India )
( WRA ¥ UFied 1 e )
15. The west terminal station of the East-West Corridor is
(A) Ahmedabad (B) Gandhinagar
(C) Porbandar (D) Dandi 1
o -ufFm FER #1 o e v 2
(A) 3TEHEETe (B) TR
(C) sl (D) =
16. Which of the following is an innovative tourism? 1
(A) Memorial tourism (B) Medical tourism
(C) Religious tourism (D) Archaeological tourism
fraffed 4 @ -1 & FavaddE wie 27
(A) T T (B) Taferean wieq
(C) i e (D) 0T e
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Note : Study the given map carefully and answer the Map-based Question
Nos. 17, 18, 19 and 20.

e . fou MU oAt o smgds sreRm Hife 3R g W snuTia wE T@n 17, 18,
19 3R 20 % IW Ffm)

SCALE
Kms. 0 2000 4000 6000 Kms.

— 60°

~60%° 15|0° 12|0° 9<|>° 6(|)° 3(|J° 0I 3(IJ° 6(|)° 9[|)° 12|0° 15|0° 1s|0°

17. Identify the plateau marked ‘A’ on the map.

(A) Deccan Plateau (B) Parana Plateau

(C) Kimberley Plateau (D) Cotopaxi Plateau 1
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i W 3AfRd ‘A’ 48R I ggaH hHifdm)

(A) T Y3R (B) 9UAT 43R
(C) Tehateft weR (D) el TR
18. Identify the plateau marked ‘B’ on the map. 1
(A) Drakensberg Plateau (B) Siberian Plateau
(C) Mongolian Plateau (D) Tibet Plateau
M W 3Afhd ‘B’ YR i 9@ I
(A) 3HTE "R (B) HESREE TR
(C) HMfTATS U8R (D) fossd 48R
19. Identify the volcano marked ‘C’ on the map. 1
(A) Fuyjiyama (B) Etna
(C) Krakatoa (D) Kilimanjaro
T W3R ‘C’ SITeTHE i U iRy
(A) it (B) e
(C) ShTehIEIST (D) Terfemama
20. Identify the ‘D’ plate marked on the map. 1
(A) Caribbean Plate (B) Najka Plate
(C) Caroline Plate (D) Arabian Plate
AHE T 3Afhd ‘D’ wie I 9g=M i)
(A) Fitfe =i (B) TSR Wi
(©) Hufer =i (D) 3R wie

o
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Note : Questions for Visually Impaired Candidate in lieu of Question
Nos. 17, 18, 19 and 20.

few . fmfaRed w7 wew gieantem snafdai o fau g §& 17, 18, 19 W@ 20 &

wH W/ E
17. Which of the following plateaus is located in Australia? 1
(A) Deccan Plateau (B) Parana Plateau
(C) Kimberley Plateau (D) Cotopaxi Plateau
frafafga § @ - wr A § fR@ g7
(A) <T&d 93K (B) 9UAT 93K
(C) Tehateft wer (D) IR TSR
18. Which of the following plateaus is located in the southern part of Africa? 1
(A) Drakensberg Plateau (B) Siberian Plateau
(C) Mongolian Plateau (D) Tibet Plateau
frfafed & & ®H-91 8RR & cfaoft wi | g B0
(&) $FETt TBR (B) ®rEERARE ToT
(C) TMferTE weR (D) fassd @R
19. Which of the following volcanoes is located between the islands of Java
and Sumatra? 1
(A) Fuyjiyama (B) Etna
(C) Krakatoa (D) Kilimanjaro
frafafga & @ - saremgeE Sren 3 gaen € % e fRa R}
(A) g (B) T
(C) ShTehTEI3T (D) Terfomem
20. Which of the following plates is located in the west coast of South America? 1
(A) Caribbean Plate (B) Najka Plate
(C) Caroline Plate (D) Arabian Plate
fafiiaa 4 @ *H- wie <faor smfee & afvan ae W o 27
(A) HRfEE wie (B) TSI wE
(C) Hfer wie (D) 3R wie
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21. Answer any two of the following questions in I or 2 words each : 1x2=2

(a) Name those two conditions due to which the load of the river starts
getting deposited.

(b) V-shaped valley is formed at which stage of the river?
(c) In which part of its course does the river form alluvial fans?

(d) At what stage does a river form a delta?

frferfaa woai & & fopedf @ & S 1 W 2 wsg ° G

(%) I Q@ TMAT % TH TR b HROT & w1 AR &G G o 2|
(@) V 3R hit Gt w1 Fmio qd hi fem sreen | gan 27

(M) Jeig T@ TG A AEt § fRE wer # A 27

() Feer v Pt 7 Few s # w27

22. Answer any two of the following by filling the blanks with appropriate
words : 1x2=2

(a) The major source of energy on the earth’s surface is

(b) Solar radiation coming towards the earth in the form of short waves
is called

(c) When heat from a heat source directly reaches an object through
waves, then that process is called

(d) Horizontal transport of heat by winds is called

frefafaa & @ f5dl @1 & W v W 4 Iugw® g e AT -

() gt T Fag W il & Y@ G Bl

(@) og qull % &9 § gt 1 R W areh @r fafmor w1 wad €

() S« fepet A Wi ¥ qO AN g R g% 9% €Y ugEd 2, Al 39 ishAT H
__ % &

(F) "edl gRT a9 w1 Afd MA@ shedl 2l
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23. State which of the following sentences is correct and which is wrong :
1x2=2

(a) Invariance of temperature is local and temporal.

(b) The situation of inversion of temperature is found more in the plains.

frefafgs st & @ SH-T1 W& 8 3 HH-TT Ted §aqTsy
(%) M s focimar g wd w9 @09 & fog 2 R
(@) i foeimar it fRafs femt @ stfues a8 9t B)

24. Make any two correct pairs from Column—A and Column—B : 1x2=2
Column—A Column—B
( Climate group ) ( Climate type )
(@) A (i) Desert climate
(b) B (i) Mediterranean climate
(c) C (i) Taiga climate
(d D (iv) Tropical rainforest

(v) Tundra climate

(vi) Climate of snow covered region

HIAF—A 3N HAH—B | § His @ &l IS 48T :

Hicti—A Fem—B
( Serarg =t ) ( STy SR )
(@) A (i) TR STty
(b) B (ii) YEEEIHE Serery
(c) C (iii) M Ty
(d) D (iv) ITRICEHT auiaq
(v) SO SETETY

(vi) TearesTied Jeu 6 Joay
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25. Answer any two of the following questions in I or 2 words each : 1x2=2
(a) Write the latitudinal extension of the northern temperate zone.
(b) Write the latitudinal extension of the southern cold temperate zone.
(c) In which thermal zone does the south polar region fall?

(d) Mention the latitudinal expansion of the tropical region.
frfefied sl 5 | fFdl @1 % IW 1 A1 2 Weal H QT ¢

(%) I Mo wicay w1 sramia famr fafau)

(@) cferoft sfia sfidmn wfeay = e faear fafaw)

(M) <fEor gefa & fopm e wfesy & smar B¢

() Iwrehieae Jeu & AT fawr w1 3g@ Fifs|

26. Answer the following questions in I or 2 words each : 1x2=2
() By what name are grasslands known in Eurasia?

(b) Mention the name of the grassland located in the continent of South
America.

freaferfiga wet & 1 @1 2 wedl # S AR .
(%) L 4 grayfy & kg @ @ @ S 22
(@) slequr IWiehT Wegd o forq gy o AW &1 3g@ hivg|

27. Read the given paragraph carefully and answer the following questions in
1 or 2 words each : 1x2=2

Solution of Land Problems

To deal with these problems, the country has adopted a two-fold approach;
physical and social. Physical reclamation of land is achieved through
chemical treatment of water-logged soils and is followed with scientific
rotation of crops. Similarly, land rendered useless by river action and river
floods are also reclaimed after necessary treatment to restore their fertility
and texture. Physical reclamation of desert lands calls for more sustained
efforts. It requires introduction of suitable natural vegetation and canal or
well irrigation or even both.

(a) Mention two methods for land reform.

(b) Mention any two problems of land.
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fou MU Ig=RE W wH ¥ ufgw 3R fafafed w6 W 1 W 2 wea H e
iy &t TEEe w1 T

qfy 1 TEneT % wHeE & fou gw & oifae it @i 9 gfeeiv smEm T
SRIT JaT i TERW SRAT G fH H Hifde 3ER TR S W@ 81 36k 916 39
I T SIS @1 IRAEAH IR AT 2| 3 YRR 98 W S Ad-foRamadt s 7
%1 TGl g SHR B TS 8, SHHI IGR AEWH RATHI g Hih IHeh! IAAT 9 SHEE
IIMUE A% S 2| TeEEt i % wifde 3gR % fou waq W feu S @1 sk fag
WY UTehfaeh edfd ITHT 3R Fe a1 gu &= & gfaad yem s S& 0 2|

(%) 4t ggr & forw & 7w w1 Igw i)
(@) 9fy &t frl  Tuensti &1 3g@ Hifu)

28. Read the given paragraph carefully and answer any two of the following
questions in I or 2 words each : 1x2=2

Surface Water

The main source of surface water is precipitation. About 20 percent part
of the precipitation evaporates and mixes with the environment. A part of
the running water goes underground. The large part of surface water is
found in rivers, riverlets, ponds and lakes. Remaining water flows into the
seas, oceans. Water found on the surface is called surface water.

About two-third of the total surface water flows into three major rivers of
the country—Indus, Ganges and Brahmaputra. The water storage capacity
of reservoirs constructed in India so far is about 174 billion cubic metres.
At the time of independence, the water storage capacity was only 18 billion
cubic metres. Hence water storage capacity has increased about ten times.

(a) Define surface water.
(b) Mention the main sources of surface water.

(c) Mention the difference in the storage capacity of water resources at
present and at the time of independence.

(d) What percentage of precipitation evaporates?
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fou T =R w1 e ¥ ufer 3R faffed uwt 7 @ 58 @ % S 1 W 2 g
T &fe

PLRES ]
TAd W JEE A R YA A GuUl @l FEU R AT 20 iR WHT SIS B
qgred § foefH g S 81 YaTfed S 1 S AW Y g Jal 2| gEE S H
Th S €1 W WA W ACHi-A1el, drerEi qen sfiel § fyerdr 1 A9 S gge
IFR-HEEPR § 31 fear g1 4-98 W 9 S W a9 I H g A Ay Sd
%ad 3l
Fl TET ot 1 T qr-fegr 9w g A S wh afemifay, T o e ¥ g
e 21 I W H ffifa SemsEi % So Werw i awar w174 faferm v et
2| AT % HHY SIATSE b WSRUT Y aqwar O 18 faferm =m e oft| 39 yR S«
YUSRUT 61 qHAT AT ¢d T §gIE S gehl B
(%) g¥E 9@ ! GRATE Rl
(@) wae W YEE 9 % YH@ Eidl 1 3g@ hitu)
() IAHH 3R WAl & THY TARMEN hl YR &HdT & 3Tl 1 Ig@ hifoy|
(a) a¥u w1 fepaar wlawad Wi a@ifSid B Sar ]2

Attempt any one part as per your optional module
U Jehicdh WIgTH o IER fREl T W 1 IW &
OPTION-I
ferepeu—1I

( Local Area Planning )

( TariT &= e )

29. Answer the following questions in I or 2 words each : 1x2=2
(@) Mention two advantages of mean.

(b) Write the formula for arithmetic mean for grouped data.
frfefed g g7 &1 1 a1 2 v # S fafew -

(%) WA H P AU BT IFW hifU|

(@) offeha TR & fofu ST wew o g3 i fofen

316/TUS/108A 42 AT



30. Answer the following questions in 1 or 2 words each : 1x2=2
(a) Mention two characteristics of slum.

(b) Mention the main objectives of planning for tribal area development.
ffefga gesh 999 &1 1 W1 2 w=dl # I fafEw

(%) HieH sl o 8 @&l H Ig@ HI

(@) sHfa &= faem & fou feee % ge st &1 sga i)

OPTION-II
faremea—I1

( Geography of Tourism in India )

( WRa Ui 1 e )

29. Answer the following questions in 1 or 2 words each : 1x2=2
(a) Mention the term used for travel for economic benefits.

(b) The Manas National Park is located in which State?
fr=fefaa s w7 #1 1 W 2 e # W fafaw

(%) s ol & forw ymor % fou s weg &1 3g@ i)
(@) 9V TP IgH fhm Usw § o 27

30. Answer the following questions in 1 or 2 words each : 1x2=2
(a) Mention one major component of ecotourism.

(b) Which oil refinery is threatening the beauty of the Taj Mahal?
freforfad gk wo7 &1 1 W 2 v § s fafe

() wifeafass wied & Tk Yq@ ek H1 3g@ hifo|

(@) fFa da1 MeM HRE@H A aHEA hl Geldl Hl Tl a7
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31. Explain the evidence of paleomagnetism in two points in the context of
continental displacement. 1x2=2

TRIGUR foRdTo o HeH § qUEaeha o THI i q faga # = Hiu|

32. Explain the deposition related work of the river in two points. 1x2=2
T8 % fremw gedt wE A @ fogst § =men Hifg

33. Explain two characteristics of the Lesser Himalayas. 1x2=2

oy feurers 1 @ faemarsti €1 =men $ifu)

34. How do the northern mountain ranges affect the climate of India? Analyze
in two points. 1x2=2

ST wda AfET fRe YR wRa fi oy w1 vl sl B @ fogat § favawo
i

35. In the given Political Map of India (shown in Page No. 53), mark the
following with appropriate symbols and write their names : 1x2=2

feu mu (yn w@n 53 # fo@m ) yra & ToHifae wEE § fEfafaa w5 swgw o
¥ Jifra Hife 3 37 T fafew .

(a¢) Major iron ore mine located in Tamil Nadu
dfyerTg ° fud ofig 3es 6 yg@ @F
(b) Major manganese mine located in Chhattisgarh

e ° fd S 6 ygE @@=

Note : The following questions are in place of Question No. 35 only for
Visually Impaired candidates.

(a) Write the name of the place where major iron ore mines are located
in Tamil Nadu.

(b) Write the name of the place where major manganese mines are located
in Chhattisgarh.
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féw . frafafes v Faa gt wdenfiat & fou w7 @@ 35 % wWW W F)
(%) 3@ TH &1 T fafae J&f afiemrg # < s i ygE @ fea #)
(@) 39 wH &1 9" e a7 =<diemg ¥ Te 6 ygE wH R

36. In the given map of India (shown in Page No. §5), mark the following with
appropriate symbols and write their names : 1x2=2

feu My (48 @@ 55 # fe@wm M) wna % AHtE ¥ Frafafed w swe o @ sifed
Hifv 3R 37 T Tl .

(a) A major cotton textile industry centre located in Kerala

el § o wh g gdl a8 e g

(b) A major iron and steel plant located in Tamil Nadu

dfterTg § fd T Y@ ©ig U9 s 699

Note : The following questions are in place of Question No. 36 only for
Visually Impaired candidates.

(a) Write the name of the place where the main centre of cotton textile
industry is located in Kerala.

(b) Name the place where iron and steel plant is located in Tamil Nadu.
féw . frefafad w7 Faa genfia whenfi & fow w1 @@ 36 % WM W F)

(%) 39 M &1 W fafae @l o § gl @ 3T w1 ygE oy fr 2l

(@) 39 T &1 9™ fafae s aftemrg 3 oie @ swa T a2

37. Explain two major features of rural-urban population composition
in India. 1x2=2

IR § Jriv-sgdt e % "ued i @t @ fomvaret i =men S|

316/TUS/108A 45 AR TR0 1 e.7.0.



Attempt any one part as per your optional module

YA Jehfedsh HIgTH ® HTIER fhHl T W 1 IW 3

OPTION-I
fererea—I

( Local Area Planning )

( T & AT )

38. Describe the two main steps in collecting secondary data. 1x2=2

fgdfiores TTpgl o THATHT & Y@ FUMEI HT GUH HIfg|

39. “Questionnaires serve two purposes.” Explain both the purposes in
two points. 1x2=2

“gerEferEl Q1 e Bl QU HA §17 qHI Ievdl T s q@ faga #@ i

40. Describe the residential structure of a slum in two points. 1x2=2

Al KA % TEEE e w1 a fugst § aviA i)

OPTION-II
fremeu—-11

( Geography of Tourism in India )

(v # v e )

38. Explain the relationship between transport and tourism origin and
destination in two points. 1x2=2

qiEaed 3R Wied 3gH T e % S geg & @ faga #§ @y Sl

39. Explain the role of tour operator in conducting tourism. 2

WA % FEEH b gl AT HI it w1 Ty Hifu|

316/TUS/108A a6 AT



40. Mention two types of invisible exports through tourism. 2

wed ¥ g g fEl B A TR w1 I3

41. Mention the names of three branches of human geography. 1x3=3

MG A i @\ WIS s AWl 61 3g@ i

42. Explain the main characteristics of ocean deep. 3

TR TR f ygE femivansn i s fifv

43. “There are many factors that influence the size, location and
characteristics of a biome.” Explain three factors in support of the
statement. 1x3=3

“gd-¥ HRH & A1 (1AM h TR, Al 3R Igeh! fRrwarati 1 wwifed #d 817 FeF
HI gfE § @9 SRRl HI ST i)

44. (a) Describe the three main means of irrigation in India. 1x3=3
yid § fH=E & @7 yg@ aredl &1 avia il
Or / 391

(b) Describe the importance of river valley projects in India in three
points.

v # 7w ot % e w1 dm fage # i AR

45. (a) Explain the difference between wet agriculture and irrigated
agriculture in India in three points. 1x3=3

T # A P wE R FN % 3w w dw fgH § @ S
Or / 374l

(b) Explain the difference between commercial farming and contract
farming in India in three points.

wT § A B S sEE F F st W AR figai § e Hifw
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46. (a) Define population density. Explain any four factors affecting the
density of population in India. 1+4=5

STEET Ocd bl UNMING SHIfSTU| YR | SHEEAT & Ocd ol TTd i dTct Toheal
TR S Sl AT Hif|

Or / FYai

(b) Explain the meaning of population growth. Explain the four categories
of population growth in India. 1+4=5

SHEET ghg H1 3TY T HINY| IRG H SHEEA g % AR S hl AR Hi|

* Kk ok
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Attach this map with your answer-book NEW
$9 AT Bl 3T IT-GIEdenT & qre Feeft i

OUTLINE MAP OF INDIA (POLITICAL)
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Roll No.
JIshHTeh

Attach this map with your answer-book NEW
$9 AT Bl 3T IT-GIEdenT & qre Feeft i

OUTLINE MAP OF INDIA
HRA <kl

3]

{

|

31
J

3
i

8
e

88°

:
Jk

316/TUS/108A 51 AR TR0 1 e.7.0.



316/TUS/108A 52 AT



Roll No.
ITIHHATH

Attach this map with your answer-book OLD
$9 AT Bl 3T IT-GIEdenT & qre Feeft i

OUTLINE MAP OF INDIA (POLITICAL)

er@wmﬁa(umﬁﬁm)

I
I
I
I
I
I
I
I
I
I
: 68° 72° 76° _80° 842 88 82° %° 0o
I 36% SN 436°
I "’\) Ry
I ¢ s
I I i. N EJ S ' 390
| 32°} , '\x\}
I

/ -
I 2% o ¢ \ '-\ -~ "~

Va | W 'm \\ Yt
| g b e
I L !'/. { f'."..
e €4,
| 24° ""'“w'z ?i‘-. 5 {S ML},...,F P Ve ~249)
I
I
I
| 20°F 20°
I
I
I Jise)
| 18°F
I
~ o
| 12°p : - 3 2
P P ]
I :c.'. | . Y . ‘I
| ™\ o I
I gok o _ ; . 8°
| o ' ]
I Wm100 0 100 300  500km
| w Al .

I i } i ] ) (| {1 3 . 1
* 72° 76° 80° 84° B8° g2° ‘98°

316/TUS/108A 53 AR TR0 1 e.7.0.



316/TUS/108A 54 AT



Roll No.
ITIHHATH

Attach this map with your answer-book OLD
$9 AT Bl 3T IT-GIEdenT & qre Feeft i
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